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ERH—Y () 3 5 8 23 10 4 14 23 4 5 99
A 10 14 10 10 10 12 10 10 10 10 106
8 BT SS () 2,800 5800 5000] 6,800 2,000| 2800 4400| 5,000| 3,000 6,000 43,600
MLy brt—r3— (ff) 150 150 150 50 100 150 150 150 150 150 1,350
i L ) 4 10 9 12 4 5 8 9 5 15 81
oI ER) 6 11 10 12 5 6 9 10 6 14 89
st P () L 2 3 2 3 2 2 2 2 2 5 25
AR & st oL () S 2 3 2 4 1 2 2 2 2 4 24
BLYSE  (3v)) 11 24 20 27 8 11 17 20 12 33 183
AR (Sy)) 26 41 36 46 21 26 34 36 26 56 348
PhizsE  (3v)) 400 400 400 400 [IBFA/b 400 400 400 400 400 | 3,600
<= VR 1 1 1 1 0 1 1 1 1 1 9
< R VRS MY 1 1 1 1 1 | [BEHE 1 1 1 9
< RV MERM L 1 1 1 1 1 1 [BEEex 1 1 1 9
I3 (K 200 100 100 100 100 100 100 100 100 200 1,200
797 ) 10 20 10 10 10 10 10 10 10 20 120
Ry BN (#) 500 1,000 1,000 - 500 500 1,000 1,000 500 500 6,500
Hvbhave(f) 12 8 10 - 10 10 10 10 10 10 90
HEyb A (K) 30 30 30 - 30 30 30 30 10 30 250
AERGS |Efieoh () 340 660 680 - IH FA/h 800 520 1,220 740 820 5,780
£ fi ) - - 1,500 1,960 500 800 1,220 1,220 740 640 | 8,580
0B (K) 1 1 1 1 1 1 1 1 1 1 10
A 1 1 1 1 1 1 1 1 1 1 10
AREL K A 8 11 12 - 9 11 12 12 12 12 99
o7 4,000 ] 4,000 4,000 4,000 4,000 4000 4,000] 4,000| 4,000 4,000 [ 40,000
P07 t= B Y A — 1 1 1 1 2 1 [BA M 1 1 1 10
AN 5 2 5 - 1 2 3 2 3 2 25
INEEARIE - - - - - - - - - 0
EF 50 50 50 50 |HF&/N 50 50 50 50 50 450
EVETAAL 1 1 1 1 1 1 1 1 1 1 10
I—FY—L (H) 1 1 1 1 1 1 1 1 1 1 10
B 1 1 1 1 0 1 1 1 1 1 9
i 5 A48 2 3 3 4 2 2 3 3 5 2 29
Y rage 2 2 2 2 2 2 2 2 2 2 20
Fh 1 1 1 1 0 1 1 1 1 1 9
fit-619 10 10 10 10 10 10 10 10 10 10 100
TIAN—L—L 2 3 3 4 1 2 3 3 2 4 27
J B 2 2 2 2 ) 2 2 2 2 2 20
Hley b AR B - - - - - - - - - - 0
N 2 3 2 2 1 2 2 2 2 2 20
S Bk - 1 - 1 - - - 1 - 1 4
BEM | B R 2 2 2 2 2 2 2 2 2 4 22
R—HTNVEIR 2 2 2 2 [InFa/h 2 2 2 2 2 18
J—F—3% ) 2 2 2 2 [EFA0 2 2 2 2 2 18
ks 2 3 3 4 1 2 3 3 2 4 27
LEDIA} 1 1 1 1 1 1 1 1 1 1 10
BT 5 5 5 5 5 5 5 5 5 5 50
HEIR 3 4 4 5 2 3 4 4 3 5 37
EE AL 2 3 3 4 1 2 3 3 2 5 28
Ak 6 9 9 12 3 6 9 9 6 15 84
VIVNT A4y 2 8 11 11 14 5 8 11 11 8 17 104
FYRYL—R—V 1 1 1 1 1 1 1 1 1 1 10
HESvo* 1 1 1 1 1 1 1 1 1 1 10
T——h 10 10 10 10 10 10 10 10 10 10 100
L A% 2—Fvh 1 1 1 1 1 1 1 1 1 1 10
k2 1 1 1 1 1 1 1 1 1 1 10
AB R AT v 1 1 1 1 1 1 1 1 1 1 10
D7 2 1 1 1 1 1 1 1 1 1 11
20 $ ERFERABOX 1 1 1 1 - 1 1 1 1 1 9
LoD f £ f f f f f f £ f -
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HREHERT MO (T |2 M &R | OAN [REE A R |[EERE EEWE Ry
= & Ak 1TH =) NoE
dh H gk PR PR R [evs— REME KR |[vur— [vus— [BlkS
By (&) 3,320 1,400 700 1,100 980 280 1,420 2,720 1,420 1,000 | 14,340
TAZ 7Lk (V) (&) 50 50 50 50 50 50 50 50 50 50 500
i (i8) 2 1 1 1 1 0 1 - 1 1 9
o BEEER HE AV (B) 2,030 630 420 630 560 210 770 | 2,450 840 560 | 9,100
kAT VS 60 60 60 60 60 60 60 60 60 60 600
162 S UDAVID) 1,716 528 264 420 372 120 624 1,185 540 348 6,117
NI 700 300 300 300 300 200 300 500 300 300 | 3,500
BV () TV vE— 2 1 1 1 1 1 1 2 1 1 12
] 2 1 1 1 1 1 1 1 1 1 11
ERn RS A 1 1 1 1 1 1 1 1 1 1 10
gy —Y () 5 10 1 2 4 2 - - - 2 26
fSML () 20 12 10 10 10 10 10 10 10 10 112
S RIS () 6,200 | 2,600 1,400 | 2,200 1,800 600 [ 2,800 | 5,000| 2,800 1,800 | 27,200
BAL bt — 8 — ([f]) 250 150 150 200 150 100 150 150 150 150 1,600
T LA (K 11 4 2 4 2 2 4 9 4 4 416
st oR A (1) 11 5 4 5 5 4 6 10 6 5 61
s (KO L 4 2 2 2 2 2 2 2 2 2 22
T b (st THE () S 3 2 1 2 1 1 2 2 2 1 17
BLYSE  (Sv7) 35 9 5 8 7 3 11 20 11 7 116
ARG %)) 42 22 20 22 21 15 25 36 25 21 249
PhiEsE  (15v7) 400 400 400 400 400 400 400 400 400 400 [ 4,000
< R— VML 1 1 1 1 1 1 1 1 [OKANT 1 9
~ R VARSI 1 1 1 1 1 1 1 1 1 1 10
< =)V MER L 1 1 1 1 1 1 1 1 1 1 10
3% () 200 100 100 100 100 200 200 100 100 100 1,300
I (&) 20 10 10 10 10 10 10 10 10 10 110
oy (K 1,000 500 500 500 500 500 500 - - 500 4,500
kybava(f) 20 10 10 10 8 10 10 10 8 10 106
HEybHA (K) 60 30 10 30 30 30 30 30 30 30 310
AERS [EE~vk () 1,520 500 140 500 - 300 840 1,680 500 | 5,980
£ fi () 1,520 500 140 500 - 140 700 1,320 - 500 5,320
B # (&) 2 1 1 1 1 1 1 1 1 1 11
HL A 2 1 ] 2 1 ] 1 - - 1 10
HBtAK K 21 10 5 8 5 7 10 - - 7 73
My 4,000 | 4,000 4,000] 4000 4000] 4000 4000 4000 4,000] 4,000 40,000
Y7tz B Y H— 2 1 1 1 1 1 1 1 - 1 10
NEL Yk 3 2 3 2 2 2 2 2 2 2 22
DYEE AR 1 - 1 - 1 - - - - - 3
EE 100 50 50 50 50 100 50 50 50 50 600
BT 1 1 1 1 1 1 1 1 1 1 10
I—R)—L () 2 1 1 1 1 1 1 1 1 1 11
BH 1 1 1 1 1 1 1 1 1 1 10
i 5 2R 4 2 2 2 2 1 2 3 2 2 22
U ringe 2 2 2 2 2 2 2 2 2 2 20
Tk 2 1 1 2 1 1 2 1 1 1 13
819 10 10 10 10 10 10 10 10 - 10 90
FIAR—=FL—L 4 2 1 2 1 1 2 7 2 1 23
R B 2 2 2 2 2 2 2 2 2 3 21
N bH RS - - - - - 1 1 - - - 2
NOA RS 3 2 2 3 2 2 3 2 2 2 23
A=y BHH 1 - - - - - - - - - 1
B (WU AR b 2 2 2 2 2 2 2 2 2 2 20
R—=2T NVEIR 2 2 2 2 2 2 2 2 2 2 20
V—F— 2 2 2 2 2 2 2 2 2 2 20
ks 4 2 1 1 1 1 2 2 2 1 17
LEDZAh 1 1 1 1 1 1 1 1 1 1 10
HRELT 5 5 5 5 5 5 5 5 5 5 50
TH IR 5 3 2 3 2 2 3 9 3 2 34
DECBREL 4 2 1 2 1 1 2 8 2 1 24
AR 12 6 3 6 4 4 6 24 6 4 75
VIvhTAvya 14 8 5 8 5 5 8 28 8 5 94
FyRE—h—r 2 1 1 1 1 2 1 1 1 1 12
EYvv¥ 2 1 1 1 1 2 1 - 1 1 11
7 ——h 10 10 10 10 10 10 10 20 10 10 110
L A% a—t vk 2 1 1 1 1 2 1 1 - 1 11
Brkds 1 1 1 1 1 1 1 1 1 1 10
AR R’ Ty ] 1 ] 1 1 ] 1 ] 1 1 10
DA 7 1 1 1 1 - - 1 1 1 1 8
2ol SEERFERABOX 1 1 1 1 1 1 1 1 1 1 10
LRI f f f f el f f f f el -
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BEEE T B S N 7= A1 0B & E
T # NoE | A F
i AR EK O ER |EE |EK
By vy (#) 1,680 1,000 300 2,020 2,580 - - - - 7,580 | 112,000
TAZ 74k (TL) (&) 50 50 50 50 50 - - - - 250 2,500
i+ () 1 1 1 1 1 - - - - 5 49
4B BEEEE Al Ao h () 980 560 210 1,120 1,470 - - - - 4,340 | 63,210
Y KAF VY 60 60 60 60 60 - - - - 300 | 2,700
ek (Vyby) 624 375 120 756 960 - - - - 2,835 | 41,899
NI 400 300 200 400 500 - - - - 1,800 | 23,500
BUVY (4R) TLLVE— 1 1 1 1 2 - - - - 6 78
REsE 1 1 1 [ ER 1 - - - - 4 46
A |ER A 1 1 1 1 1 - - - - 5 45
EEAY—Y () - 2 5 - - - - - - 7 343
AL () 10 10 6 - 10 - - - - 36 459
S PRI (b 3,200 2,000 600 3,800 4,800 - - - - 14,400 | 200,000
L b= (fB) 150 150 50 50 150 - - - - 550 6,600
GiERi () 5 4 2 6 9 - - - - 26 372
st RN (D) 6 5 4 8 9 - - - - 32 400
st OFHEH (KO L 2 2 2 2 2 - - - - 10 125
A L (s o P () S 2 1 1 2 2 - - - - 8 108
BLYSE (X)) 13 7 3 15 19 - - - - 57 835
ARAR  (Sv)) 27 21 15 31 36 - - - - 130 1,551
PhEsE  (Xv)) 400 400 400 400 400 - - - - 2,000 [ 18,000
<= VLV 1 1 - 1 1 - - - - 4 49
< i VS L 1 1 1 | e 1 - - - - 4 43
~VR— )V/IMER L 1 1 1 [ AR 1 - - - - 4 43
=R (09) 100 100 100 100 100 - - - - 500 5,400
I 7 () 10 10 10 10 10 - - - - 50 510
o BAN (#) 500 500 500 - 1,000 - - - - 2,500 | 28,000
Hlvhara () 10 10 4 - 10 - - - - 34 429
Ay b HA () 30 30 12 - 30 - - - - 102 1,222
ETERS Efievt () 420 220 80 - 700 - - - - 1,420 | 34,760
i <7f5z) 780 - 140 - - - - - - 920 | 41,850
H # ) 1 1 1 1 1 - - - - 5 46
e e 1 1 1 - 1 - - - - 4 45
HICRK KA 12 7 2 - 12 - - - - 33 413
=y 4,000 | 4,000 | 4,000 [ 4,000 4,000 - - - - 20,000 | 180,000
Pzt B Y h— 1 1 1 1 1 - - - - 5 49
NELEYR 2 2 2 - 3 - - - - 9 121
DEEAE - - - - - - - - - 0 4
EE 50 50 50 50 50 - - - - 250 | 2,300
FEVVEETARAL 1 1 1 1 1 - - - - 5 45
a—RJ—) (£) 1 1 - - 1 - - - - 3 44
=L 1 1 1 - 1 - - - - 4 44
fifi 5 e 2 2 1 - 3 - - - - 8 128
Pu#rnse 2 2 2 2 2 - - - - 10 90
T b (1) 1 1 1 - 1 - - - - 4 47
k) )] 10 - 10 - 10 - - - - 30 420
FIAR— =D 2 1 1 2 3 - - - - 9 125
A 2 2 2 2 2 - - - - 10 92
Ty b H AFE B - - - - - - - - - 0 2
AT A 2 2 2 1 2 - - - - 9 92
PNV B - - - - 1 - - - - 1 20
B8 )RR 2 2 2 2 2 - - - - 10 100
R—=B2TIVER 2 2 2 2 2 - - - - 10 90
V=T F)V 2 2 2 2 2 - - - - 10 90
e\ 2 1 1 2 3 - - - - 9 119
LEDIA} 1 1 1 1 1 - - - - 5 45
AT 5 5 5 5 5 - - - - 25 225
HHE 3 2 2 3 4 - - - - 14 171
DEEIREL 2 1 1 2 3 - - - - 9 130
A 6 4 3 6 9 - - - - 28 395
E O 8 5 5 8 11 - - - - 37 482
FyRF—R—r 1 1 1 1 1 - - - - 5 47
HEY Y% 1 1 1 1 1 - - - - 5 46
7 —y—h 10 10 10 10 10 - - - - 50 460
L A% a—Fvh 1 1 1 1 1 - - - - 5 416
kR 1 1 1 1 1 - - - - 5 45
AE R Ty 1 1 1 1 1 - - - - 5 45
DR L s iBEOE [REOR 1 - - - - 2 41
KERFRABOX 1 1 1 1 1 - - - - 5 44
Sl TR F | & | & | & [ & [ - [ - [ — [ — 1 -
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U, 2UCHEATEES (RBAERERE)

BB, w7 | AE | 77N
R R R = R | A R R TR o | BHR | YR |BRTFE| v acs|FanE|vrerae|  #
- Wi | # | Ban
B2D (&) 240 | 280 | 700 | 340 | 1,260 160 | 320 | 260 | 280 | 880 | 220 | 220 140 5,300
gy, EEEACAYY b 180 180 | 360 | 240 | 660 180 | 240 180 180 | 540 180 180 120 3,420
= ek (U R 312 | 384 | 972 | 480 | 1,776 | 228 | 456 | 360 | 396 | 1,272 | 288 | 288 | 255 7,467
SHKAF VY 30 30 30 30 30 30 30 30 30 30 30 30 30 390
N Ly hS—sS— (fE) 50 50 50 50 50 50 50 50 50 50 50 50 50 650
wERG (< A= VAR L 1 1 1 1 1 1 1 1 1 1 1 1 1 13
MOESE Sy o) 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 5,200
v, [ b 0 120 140 | 340 160 | 600 80 160 120 140 | 440 100 100 60 2,560
e & G 120 140 | 340 160 600 80 160 120 140 | 440 100 100 60 2,560
R—% TIVER 2 2 2 2 2 2 2 2 2 2 0 0 0 20
zoft [V=5—3 2 2 2 2 2 2 2 2 2 2 0 0 0 20
LEDSA b 1 1 1 1 1 1 1 1 1 1 0 0 0 10
T, IRER$EENRHEREHES (—RRERRERE)
piii i iEA B é‘ﬁ‘)/\:~ BE | o st HEE | B EJ\.—‘ a50T | pBr—
BELS ISR\ BRE e | 0% | B | P05 | e, e | Tom | 0200 | was | 2SED | Bem | xhs | oen
V=Ygl | s | B | B |7 wEFR | v—
HE
(REREERLC A v b 240 300 | 300 | 360 [ 2,100 | 840 | 1,980 [ 4,140 | 600 | 480 | 300 | - - 11,000 | 11,000 | 33,640
s X 96 156 | 156 | 420 [ 1,032 | 408 | 1,008 | 1,440 | 600 | 252 | 156 | 516 600 | 5,500 | 11,000 | 23,340
S EEEER A Y b - - - - - - - - - - - [ 1L0s0 [ 2,100 - - 3, 150
TNV T 7 REE I3A - - - - - - - - - - - - - - 11,000 | 11,000
B BAE () 1 ] 1 1 1 1 1 1] - 1 1] - - - - 10
iy - - RIAZE 1 1 1 1 1 1 1 1 - 1| - - - - - 9
FNITIV Iy R 200 300 | 300 | 400 [ 2,100 | 800 [ 2,000 [ 3.500 | 600 | 500 | 300 - - 1,000 | - 22,000
HEERAS [Ty b - - - - - - - - - - [ n200 [ 00 - - - 1,500
B - - - - - - - - - — 200 [Ta00 [ - - - 2,400
v 7 300 300 | 900 | 300 300 300 300 300 - 300 | - - - - - 3,300
oM [2A2 100 100 | 100 [ 100 | 300 200 300 ] 500 - 100 100 ] - - - - 1,900
REREENERT 9/ 1 1 1 1 1 1 1 1 - 1 - - - - - g
LDUN i i A A A A A A A A A A - - - 0
ok - SEEXRR
(2) HAKESRIMEREINR [1TEGEHH]
7. REEKERRERR (BhL 1K)
E Al E3p #E XiE &t
BB 116 345 783 1, 244
(F) BRI LT1 0 OmfERCrRiflIRE fakk - SEENRR
1. REIH KRB ERN (B : &)
Hh X AR X GiEY==3:1|=8 BIIHX BREHHX &t
BEA=E 38 35 28 1 102
7. DIRETHRAR Y 7 - ARV RNA TEHREBEIRN (BfI: &)
D #RATHR AR > 7 ARV RN T
50 59
() REEFARTE, BEREICHRE fark - SSENHERR
(3) MXBIBFREHKARRZL
X | EEH | EHIA S & | A F| RER | RESE|E M| B BB NI A& F
i & 11 9 21 19 14 14 13 28 24 24 22 199
B 58 Ee 11 6 20 18 14 14 13 28 24 24 22 194
FERE (%) 100 67 95 95 100 100 100 100 100 100 100 97
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(4) BERhKHEREFRRIFEREL

F E 217 28 29 30 TG
fEOR B 0 0 0 0 0
2 Bl 194 194 194 194 194
fok - SEER AR
(5) NKEREBLDIRENIR
&£ & 217 28 29 30 TG
WM (1) 18 11 12 7 4
w®EEK (N 217 20 20 10 7
B BB L, (B, BB A BORE (25  FB - L. IR0 fofl - BN
R&E£(30, 000H- 15, OOOF‘H 10, 0O00H-5, 000M)&%#d 5
(6) MW - TRAEERET - MRCUETSBIR  [ATEGTE]
7. REEBFIIN T SMEDY - IWERMRERGT - MEWIEE TEBEHE (B4 : 1)
3 E 27 28 29 30 TG
MW 75 75 76 59 43
it 4 6 4 6 I
MELUES 2 3 49 49 33
(%) THEREREET % 26 &> 55 R

PR 29 B E &V MRREF ISR Z S0

1. BREAER - REEEYIIN T SRS - TR

- MERBIE TEF TN ¢ % B

(B : 1)
;N 3 27 28 29 30 7T
it 22 22 e 18 9 2 0 3
i R AR AR 5T 8 3 9 6 5
M E R IESE 23 6 7 3 7
() AR 23 SR & V) HEM0, REE RS I E S W D ABIEL BEER

MEEFIZIIRNE S0
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